

GRADE 4 – MODULE 2:  PARENT GUIDE

Unit Conversions and Problem Solving with Metric Measurement

Each day in class, we do practice sets. Attached are the answer keys to the Practice Sets from this module.  These answer keys can be used to refresh your child’s memory of work we did together in class and help you support your child with the math homework.  There is a footer at the end of each answer key that tells you the lesson number.  This lesson number corresponds with the lesson number on the homework sheets.  


Module 2 Contents:
	Topic A		Lessons 1 - 3
	Topic B		Lessons 4 - 5
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NYS COMMON CORE MATHEMATICS CURRICULUM

Name: __Jact®

1. Complete the table.

Mass
kg g

1 1,000

3 3,000
L § 4,000

17 \7,000
20 20,000
300 300, 000

3. Solve.

a) 371515008~ 2,215

47,0000 x 2158
11500 —> 3,500 ~>3,7154

c) Express the answer in the smaller unit:

25kg9g + 2448 9918 = T, 0009
25,009 4
*2y4,2419

e
50,0009
€) Express the answer in mixed units:

14kgsos; 42888= [0k 2174

HK i

= “Tka mﬂ

lo¥kq ll'l«j

COMMON  tesson2:

CORE
e

[4-2]

Date:

2. Find the equivalent measures

a 1kgso0g = 1,500
b. 3kg 71sg = 2,5 ¢
s 17kg 8ag = 1,064 ¢
d. 25k 95 = 29,009 ¢
e _Digusl, - 7,481g
f. 210kg 90g = 219,090 ¢
b 1k-2378= Tb39
439 +log  +1009

2519 —5 2404 > 3009 > 1,2009

d) Express the answer in the smaller unit:
k55082048908 =, 4109

24,504

20,4409
b,bbog

f) Express the answer in mixed units:

Ske6sBg+ 574818 | kg \Zqﬂ

l:§8
4571(6
w2k ||/%‘15
kg 1324

Express meic weight measurements i different unis represenied
2 wo-column table;Model 0d slve word problems

enagage™
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NYS COMMON CORE MATHEMATICS CURRICULUM

Directions: Use a tape diagram to model each problem. Solve using a simplifying strategy or an
algorithm and write your answer as a statement.

4. One package weighs 2kg 485 g. Another package weighs 5 kg 959%. Whatis
the total weight of the two packages?
W

e A e total wetgt of
B ¥ é K :i:g J,,(mn quh?es DS
i
Wy usy Sep Ay Tmymeg SR

TATE)

5. Together, a pineapple and a watermelon weigh 6 kg 230 g. f the pineapple weighs 1kg

255 g, how much does the watermelon weigh? '} 7 10
kg 21209 s WP

k «y The wadermelon
T 1 Kg 2559 weigned 44 a754,

1257y W Lhcﬁ 0(759‘

6. Javier's dog weighs 3,902 grams more than Bradley’s dog. Bradley’s dog weighs 24kg 175¢.

How much does Javier's dog weigh?

2%1\15 9 Javiev's deg

*’?\—‘l + 3,407,;) welghs 25,0179
—

or 25 1) 11

21154 390 Zsonl 2
7. The table below shows the weight of 3 Grade 4 students.
Student Weight
Isabel 35kg
Irene 29kg 38g
Sue. 29,238¢

How much heavier is Isabel than the lightest student?

CEKHINY el weins S kg %2 g ware
29K) 364 man (vene, e figwiesh stvdent.

Sk av 24

COMMON  tesson2: Express metric weight measurements in different units represcrted in
CORE  two-column table; Model and sove word problers.
Oate: s/10/13

enagage™
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 3 Problem Set

Name \)QCL Date

1. Complete the table. 2. Find the missing numbers.
Liquid Capacity a 2usooml = _2/900  mi
T L
b 7oLssoml = 10850 oy
1 1,000
5 5,000 ¢ missm = _ 2905
L 3,000 o atsm = 2008 o
Rl 45,000, e sszmi = _3 L %L m
e o0 £ ossooam = Bo 1 3 m
| L 92,000
3. Solve.
s 1,7;gml.+40L= 4L 760mL b 7L-3400mL= 3 L (s00mL
om 3
1L 7eome 3400m. —> HabuL —> TL
¢ Express the answer in the smaller unit: d. Express the answer in the smaller unit:
251478 mL + 3L 812mL= T9Q -2t 8m= (3992 me
oL Wt 29,29 mL hase ..
EOL dlam — 7,008 mL
23 296me FeaTeC
. Express the answer in mixed units: £, Express the answer in mixed units:
7L425mL - sa7mL= (oL §TImL 31L433mL - 121 876mL= [§1 55 Tme
o %5‘7
6L e g6 WA
547 mb TAL 8l mt
L 378 me 191 557 me
Leson3: Express meticcapacty messurement i tems of s smaler i
COMMON ‘model and solve addition and subtraction word problems involviny n
I & e oty L * engage™ zam

bate: e2/13
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Directions: Use a tape diagram to model each problem. Solve using a simplifying strategy or an algorithm
and write your answer as a statement.

4. John's mother combined 3,500 millliters of tropical drink, 3 lters 95 milliliters of ginger ale, and 1 liter
600 milliliters of pineapple juice to make punch.
a. Order the quantity of each drink from least to greatest.

3
3,500mL = 3L 500me 9t A 3| 500mL  mpical
3L 15mL gingorale
| L 0O mL  pineagple

least
b. How much punch did John’s mother make?
3L 500mL ‘
,V/L_‘ SL as5mL Johw's mether
Lo | 31 a5 [ILesg ] +_LLeoomt  yade BLIASML
—— TENIB ML o morich
9 "
et o el 10195 me v

5. Afamily drank 1 liter 210 mil
how much milk i left?

iters of milk at breakfast. If there were 3 liters of milk before breakfast,

tabes G

2 nmom—a—3
Thee is 1LT0mL mille leF.
P

6. Petra's fish tank contains 9 liters 578 milliters of water. If the tank can hold
12 lters 455 millliters of water, how many more milliliters of water does she
need tofill the tank? By

5
{2 L455mL \1‘1,‘1 S mb
FE ey . 9578
W+
w Al
ALSTIme She needs 2,371 wace i
Leion®: Express mtric capacty measurements i temsof a sl it
COMMON model and sove addon and bacton word robems Isonin
oo - 333/%?5.4, ddtion and subrction word pomiems ionig engageny

3 rencon, e s o e o o e e e
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 4 Problem Set

wome _Jack. —— Date

1. Complete the following table.

‘Smaller Unit Larger Unit How Many Times as Large
one hundred 100
SR mefer 100 |
one thousand 1,000
1
gram \(_i‘ggraw‘l 1,000
meter Kilometer 1,000
milliliter liter 1,000
centimeter Kilometer 100,000

2. Fillin the units in word form.

a. 429is4hundreds29__ ONES 5 b. a29cmisa__mefers 2gcm
¢ 2456is2_thovsands  asgones. d. 2,456 mis2_Lilomekers asem.
e 13,709is 13 thousands 709 ones. £ 13709gis13kg 709 _gyams .

3. Fillinthe missing number.
a. 456,879 ic 456 thousands 829 ones. b 456,879  mLisassLs29mL.

4. Use words, equations and pictures to show and explain how metric units are like and not like place value
units.

Mehric onifs and place value whifs ave alike because | can vename
Jhon. Like 1,200 ones is | Hhovsand 20D ones. And 1,200 m &5 |L 200mL.

They ave not like place value onifs because | Jortt kasw a measvrement
equal ot

COMMON | tssonss  Know an relte mtrcuns o placevalusunts i rcer o exress
| lpestt i s e s, engageny 5

353, e e s e st
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 4 Problem Set

5. Compare using >, <, or =.

a. 893,503ml 89L353mL
psazm. Q) m

393L 563mL
b. 410km3m 4,103 m
®
VoS
e saom (D) sm00em
533300cm
6. Place the following measurements on the number line:
2km415m 2,379 m 2km305m 245,500 cm
Z45m 2,305m 2,455 m
2,300 m 2,350 m 2,400 m 2,450 m 2,500 m
2l | | L |
I I s I i
Liom305m 237m | ZymUm 245,500 0m

7. Place the following measurements on the number line:

2kg900g 3,500g 1kg500¢g 2,900¢ 750g
okg Iy iy 3 4kg
1500, o
| O gy |
< + k + + >
I Y l | 1."1»3' 39004 I
o3 loey 2009 Beoy iy
8. Solve.
a 739m17cm+473m83cm= L2213 1 km
b. Use the numbers from Problem 8(a) to write a word problem.
139 Tem Liz hited T%miTom before lunch . Affer lunch she
4 473m B3em billed 4TI . Yo many wehers did Liz ke
iR

1212w 10D em wall? Abwk how many lalowh:s did Liz hike?

1 COMMON | tesond  Knowand reste metric uit o plsce value units i arderto express

COMMON | e engage™

sfan/1s

e e i o sk et
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Name Jack

Directions: Solve. Model the problems using 2 tape diagram. Answer in a statement.

Date

1. The potatoes Beth bought weighed 3 kilograms 420 grams. Her onions weighed 1050g less than
the potatoes. How much did the potatoes and onions weigh altogether?

_2xa ey
3k 4209 = 34209 s %

3u 2%20 1% |
3‘»“105 + 2:570% s et

B 51908 B
L3799 g pones owd oaions weighe
5904 o Dy TADy AvYeruec

2 \nso,

2. Adelelet out 18 m 46 cm of string to fly her kite. She then let out 13 m 78
em more before reeling back in 5 m 90 cm. How long was her string after

ol agfeeing Rin? e o9
1§ W Yl em /%"‘ 7:?)”‘" s
2 saam 1% T (M ’M <
' ZiG e
N Hler Siving WAS 2Lm Btem
\m 24em adter ceeling *in

32m 24w
3. Shyan's barrel contained 6 lters 775 milliters of paint. She poured in 1 lters 118 millliters more.
The first day Shyan used 2 iters 125 millites of the paint. At the end of the second day, there was\'7

1 liters 769 milllters of paint remaining in the barrel. How much paint did Shyan use on (he o ﬁ 117

TR e i L Hpm FL WL
£ gme T2l 126w TiL Jmb

TR o R ZENS SL IV mu 2L 999mL

O the Second day, Shyan
wed 2L 4admL of Fawr\'

I COMMON | Lesson 5: Usc addition and sbiraction 1o solve ol tep word probles invohing.

CORE dtonce, o vlme, and s engage"y 28.10

382 common e v 10 s e ey /1013
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NYS COMMON CORE MATHEMATICS CURRICULUM | 454

4. On Thursday, the pizzeria used 2 kilograms 180 grams less flour than
they used on Friday. On Friday, they used 12 kilograms 240 grams. On
Saturday, they used 1 kilograms 888 grams more than on Friday. What ~ /
was the total amount of flour used over the three days?

kg 2409 | . i
120y 12K

* \ - 2x9\84 *lxy 8659

WSS v o —r

kg b0 g 1289

le
i oy hag i s e g
B o589 s \DiEBaE0g. Vs Wwesg of flour
4 2
1% 12§49

5. Zachary's car holds 60 liters of gas. When he had 2,050 milliters of gas left, he added 23 liters 825
millliters gas. How much more gas can Zachary add to his car?

VoL
2,050mL = 2L 50mL
F25LE5m

ZoLBtamy-

iy —
2,050 251 925w 2 PToR e

A5 ¥30v
251L875mL 7 S22 30L > oL

248y an add 3HL\2GmL Moce 405 o W car

6. Agiraffe was 5 m 20 cm tall. An elephant was 1m 77 cm shorter than the (lraff;.g rhinoceros was

1m S8 cm shorter than the elephant. How tall was the rhinoceros? 5 G
Swa00m }m’%g . Bm om
Gt T T mem Im Sgem
“m 85 m

et | Ty

Y 17CM 3
wvmamE:Lw‘r e vhinoceves (s \mE5 om Tl
WMsFom

MBI m e e e g
COMMON: | et e Sk engage™  zsn

[ET—— e T
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Name ___JOCK Date

1. Find the equivalent measures.

a 1km = 1,000 o é e im = _\00 em
b, akm = 1000 o i i 3m = 300 cm
. 7km = 1,000 m | wm - K000
d _\% km = 18000m ; h. \20 m = 12,000cm

2. Find the equivalent measures.

a skm 32m = 2.0\l m d  3m seem = 25U om
b 1km 27m = 12021 m e 14m 8m = 1408 cm
¢ otskm m = 915,008 m f 120m a6em = 120 0kem
3. Solve.
a) 4km —280m = 3,120 W 5) 1m 15om-3¢cm - gl om
3 o
560w S om
- 2gom 24 cm
3720m gL o
< Exvressvnuranswerlnmesmalleroﬁhe d) Express your answer in the smaller of the
two units: two units:
1km431m + 13km 169 m = |} L0 WA 231m31; —14m 48em = 2| LE3CW
W3 lm g?cm
RAEA TN J_K_,
4 oo 21,b€3 om
e) 67km230m + 11km879m = JAKM\AM  § 67km 230m-11km879m = X5 kwm 35\ M
bTkm 230m ‘ﬂkm "M
T\l m £719m TILEmMm g1Mm
'IKFMI!MM gL km 351 M
CORMON [ cimvin
I & e 2as
oxe: snom
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Use a tape diagram to model each problem. Solve using mental math or an algorithm and write your
answer as a statement.

4. The length of Carter’s driveway is 12m 38cm. His neighbor’s driveway is 4m 99cm longer. How

long is the neighbor's driveway? -
. lam 3EM The weigbors Avideway

+ 4w 49m € VTm 37 em \ong.
E e gy e
\bm 13T eM
"~
\m PTM

12m 38m  thwm AGem

5. Enya walked 2km 309m from school to the store. Then she walked from the store to her home.
f she walked a total of Skm, how far was it fmm the store to her home?

Skm 04410
- é’\m\NWM
| ~ 2 km 30Am

Q
2km3olm 7 2k it

M s 2xm WAl m Evom e shre to
Enyals wome.

6. Rachael has a rope 5m 32cm long that she cut into 2 pieces. One piece is 249cm long. How many
contimatarsong i the ceher plece of rope? B

5
'V‘)hw«7 5/b1(,W\
T249cm

2acn 2 28 2 m

The othior piece of vope \S262 em \nwa

7. Jason rode his bike 529 fewer meters than Allison. Jason rode 1km 850m. How many meters did

| g 550m Alson vode

@ T 5am 2pwm 3ramedes,
= L km 1219m
N

[kmESDm 529m

Allison ride? 5

|[km 379




